Instructor Notes
Lesson Objective:  Students will be able to correctly add and subtract fractions by finding the common denominator when necessary WITHOUT mixed numbers

Important terminology for adding and subtracting fractions

Common Denominator- A number that is a common multiple of all the denominators of a set of fractions

Least Common Denominator (LCD)- is the smallest number that is a common multiple of all the denominators in a set of fractions

Multiple (of a number) – is the product (answer of a multiplication problem) of that number and any other whole number. Example: 12 is a multiply of 3, because 3 x 4 = 12

Lowest terms – When there is no common number that can be divided into the numerator and denominator. 

Example 1 Adding/Subtracting with a Common Denominator
You have two scrap pieces of quarter round. One is 7/12 feet and one is 11/12 of a foot long. Will this cover a length of 1 ½ feet that is in the back of a closet?

 
Step 1: Is the denominator the same? If yes, move to step 4
Step 2: Find a common denominator by using multiples
Step 3: Rewrite each fraction with the common denominator
Step 4: Add the fraction, by adding the numerators and keeping the denominator the same


Step 5: Reduce and/change improper fractions into a mixed number



Yes. You have 1 ½ feet of quarter round.

Try it 1 : 

Step 1: Is the denominator the same? If yes, move to step 4
Step 2: Find a common denominator by using multiples
Step 3: Rewrite each fraction with the common denominator

Step 4: Subtract the fraction, by subtracting the numerators and keeping the denominator the same



Step 5: Reduce and/change improper fractions into a mixed number   
  is in lowest terms

Example 2:  Adding/Subtracting without Common Denominators
You have 10/12 of a foot of wood and need to take away ¼ of a foot.

Subtract and reduce to lowest terms


Step 1: Is the denominator the same? If yes, move to step 4
Step 2: Find a common denominator by using multiples. Start with the smaller denominator

The multiples of 4 are:    4   (4 x 1) ,    8    (4 x 2),     12    (4 x 3)
The multiples of 12 are:   12    (12 x 1) 

The least common denominator is 12

Step 3: Rewrite each fraction with the common denominator

  Can stay the same


  
What did we multiply 4 by to get 12? 3. So we need to multiply the numerator by the same number (whatever “math” you do to the denominator, you need to do the same math to the numerator in order to keep the fraction equal)




Step 4: Subtract the fraction, by subtracting the numerators and keeping the denominator the same




Step 5: Reduce and/change improper fractions into a mixed number


  This fraction already is in lowest terms.





Try it: 




Step 1: Is the denominator the same? If yes, move to step 5

Step 2: Find a common denominator by using multiples
The multiples of 6 are:    6   (6 x 1),    12     (6 x 2),     18    (6 x 3),    24    (6 x 4) 
The multiples of 8 are:   8    (8 x 1),    16     (8 x 2),     24    (8 x 3) 

The least common denominator is 24

Step 3: Rewrite each fraction with the common denominator

  
What did we multiply 6 by to get 24? 4. So we need to multiply the numerator by the same number (whatever “math” you do to the denominator, you need to do the same math to the numerator in order to keep the fraction equal)




Do the same thing with the other fraction

  
What did we multiply 8 by to get 24? 3. So we need to multiply the numerator by the same number (whatever “math” you do to the denominator, you need to do the same math to the numerator in order to keep the fraction equal)




Step 4: Subtract the fraction, by subtracting the numerators and keeping the denominator the same





Step 5: Reduce and/change improper fractions into a mixed number
This does not reduce or need to be changed
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